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24.

25.

(a) /B

() not prime

(a) k=log2

() none of tiese

() none of these

(&) x=4

(b) 1/(2[(%)-1)

(2) PQ

(0) (’/z)Long4+2x/l+wvw{v«w{-
() (-2, 1) U (2, )

. (D) £ & one~to—one and ontor, but not f4

(0) (2log(arb)+(b2-a2)/ab)(al by

. (D) infinitely many solntions

(&) f(i6) 5 pidefs for oAl valuses of 0
(o) -0.5<r<o

. (&) botiv f1 and fo are homotiretic
- (b))

. (&) not continmons at k=0

(@) Log|((-2))/(x-1Y2| + constant

(p) 1-14X(4/5)%>

. (B (5-2v2)/2
() dinvisible by 120 but not always divisible by 720.
. (0) pa=p2 or p2=(3/4)ps
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(0) In the (x,y) scatter dagrom, ol pointsy lie ow the curve y=at+by?, a>0,
b>0.

(b)) 168

(7]
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26. () K1)

27. (&) u=n/2 and 6*>=n/4

28. () Statements (@), (b) and (&) are all incorrect
24. () |[(w)| s & decreasing funetion

30. (o) 81

(8]



